

(تکلیف ۹)

< فاصله شکرانی >

(بازدهم دفر-۸)

$$f(n) = \begin{cases} \cot \frac{\pi n}{4} & ; n \leq 1 \\ \sqrt{n^2+1} & ; n > 1 \end{cases}$$

$$f \circ f\left(\frac{1}{4}\right) = f\left(\frac{1}{4}\right) = \cot \frac{\pi \cdot \frac{1}{4}}{4} = \frac{\pi}{4} \rightarrow \sqrt{3}$$

$$f(\sqrt{3}) = \sqrt{(\sqrt{3})^2 + 1} = 2$$

(۱)

$$\text{الف) } f\left(\frac{1}{n}\right) = \sqrt{\frac{1}{n^2} - 1} = \sqrt{\frac{1}{n^2} - \frac{1}{n^2}}$$

$$g(n) = 2 \cos^2 n \quad f(n) = \sqrt{2n - n^2}$$

$$f \circ g\left(\frac{1}{4}\right) = ?$$

$$g\left(\frac{1}{4}\right) = 2 \cos^2\left(\frac{1}{4}\right) = \frac{1}{4}$$

$$f\left(\frac{1}{4}\right) = \sqrt{2\left(\frac{1}{4}\right) - \left(\frac{1}{4}\right)^2} = \frac{\sqrt{3}}{4}$$

$$\text{ب) } f(n) = [n]$$

$$g(n) = \frac{n}{1-n}$$

$$f \circ g(\sqrt{2}) =$$

$$g(\sqrt{2}) = \frac{\sqrt{2}}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = -1-\sqrt{2}$$

$$f(-1-\sqrt{2}) = [-1-\sqrt{2}] = -1$$

(۲)

$$f(n) = \sin n \quad g(n) = n \sqrt{1-n^2} \quad g \circ f\left(\frac{1}{4}\right) = ?$$

$$g(f(n)) = \sin n \sqrt{1 - \sin^2 n} = \sin \frac{\pi}{4} \sqrt{1 - \sin^2 \frac{\pi}{4}} = \frac{\sqrt{2}}{2} \times \frac{\sqrt{2}}{2} = \frac{1}{2}$$

(۳)

$$\text{الف) } f \circ g(n) \quad \begin{matrix} f \rightarrow 4 \rightarrow \Delta \\ 1 \rightarrow 4 \rightarrow \Delta \\ 4 \rightarrow 8 \rightarrow 12 \\ 8 \rightarrow 16 \rightarrow 12 \end{matrix}$$

$$f \circ g(n) = \{(f,0)(f,0)(4,1)(8,12)\} \quad g \circ f = \{(f,4)(f,4)(4,8)(8,12)\}$$

$$\text{ب) } g \circ f(n) \quad \begin{matrix} f \rightarrow 0 \rightarrow x \\ 4 \rightarrow 0 \rightarrow x \\ 8 \rightarrow 12 \rightarrow x \\ 16 \rightarrow 12 \rightarrow x \end{matrix}$$

$$g \circ f(n) = \emptyset$$

$$\text{ج) } f \circ f(n) \quad \begin{matrix} f \rightarrow 0 \rightarrow x \\ 4 \rightarrow 0 \rightarrow x \\ 8 \rightarrow 12 \rightarrow x \\ 16 \rightarrow 12 \rightarrow x \end{matrix}$$

$$f \circ f(n) = \emptyset$$

$$\text{د) } g \circ g(n)$$

$$\begin{matrix} f \rightarrow 4 \rightarrow \Delta \\ 1 \rightarrow 4 \rightarrow 4 \\ 4 \rightarrow 8 \rightarrow 16 \\ 8 \rightarrow 16 \rightarrow x \end{matrix}$$

$$g \circ g(n) = \{(f,1)(f,4)(4,16)\}$$

(۴)

$$f \circ g = \{(f,1)(f,1)(4,0)(1,1)\}$$

$$g = \{(1,1)(1,1)(4,1)(1,1)\}$$

$$(f,1) \in f \circ g \Rightarrow \begin{matrix} g(n) & f(n) \\ \uparrow & \uparrow \\ f & 1 \end{matrix} \quad \begin{matrix} (a,1) \\ a = f \end{matrix}$$

$$(f,1) \in g \circ f \Rightarrow \begin{matrix} f & 1 \\ \uparrow & \uparrow \\ f & 1 \end{matrix}$$

$$(a,b) = ?$$

$$\rightarrow (f,0)$$

$$\text{زوج } (b,1) \text{ برده}$$

$$b = \Delta$$

(۵)

$$f(f(m)) = f_m + r$$

$$g(f_m + r) = f_m - r$$

$$g \circ f(-1) = ? -1$$

$$g(f_m + r) = f_m - r$$

$$f_m + r = t \quad n = \frac{t-r}{r}$$

$$g(m) = r \left(\frac{t-r}{r} \right) - r = \frac{r}{r} t - \frac{1r}{r} \Rightarrow \frac{r}{r} m - \frac{1r}{r} = g(m)$$

$$f(-1) = r(-1) + 1 = -1 \quad g(-1) = \frac{-1r}{r} = -1 \quad \text{و} \quad f(-1) = r(-1) - r = -1 \quad g(-1) = \frac{-1r}{r} = -1$$

$$f(m) = \sqrt{n+|m|}$$

$$D_f = \mathbb{R}$$

$$g(m) = \frac{1}{m^2 - 1}$$

$$D_g = \mathbb{R} - \{0, 1\}$$

$$D_{g \circ f} = ? \{ m \in D_f : f(m) \in D_g \}$$

$$\{ m \in \mathbb{R} \cap \sqrt{n+|m|} \in \mathbb{R} - \{0, 1\} \}$$

$$\sqrt{n+|m|} \neq 0 \rightarrow n > 0$$

$$\sqrt{n+|m|} \neq 1$$

$$n+|m| \neq 1 \rightarrow n \neq 1$$

$$D_{g \circ f} = (0, +\infty) - \{1\}$$

$$f(m) = \sqrt{1-m^2}$$

$$g(m) = \sqrt{m}$$

$$D_{(f+g) \circ f} = \{ m \in D_f : f(m) \in D_{(f+g)} \} = \{ -1 \leq m \leq 1, 0 \leq \sqrt{1-m^2} \leq 1 \}$$

$$D_{(f+g)} = D_f \cap D_g = [0, 1]$$

$$D_{(f+g) \circ f} = [-1, 1]$$

$$\text{الف) } f\left(\frac{r_m+1}{m-r}\right) = f_m + 2$$

$$\frac{r_m+1}{m-r} = t$$

$$r_m+1 = t(m-r)$$

$$r_m - tm = -1 - rt$$

$$m = \frac{1+rt}{t-r}$$

$$f(m) = f\left(\frac{1+rt}{t-r}\right) + 0 = \frac{f+1t+0t-10}{t-r}$$

$$f(m) = \frac{1rm-11}{m-r}$$

$$\text{ب) } f\left(m + \frac{1}{m}\right) = m^r + \frac{1}{m^r} \quad ? \text{ آیا } f(m) \text{ است؟}$$

$$\left(m + \frac{1}{m}\right)^r = m^r + \frac{1}{m^r} + \frac{rm}{m^r} + \frac{r}{m} \frac{1}{m^{r-1}}$$

$$\left(m + \frac{1}{m}\right)^r - r \left(m + \frac{1}{m}\right) \left(m \times \frac{1}{m}\right)^{\frac{r-1}{2}}$$

$$f(m) = m^r - \frac{r}{m}$$

نمودار تابع g و m ها را در نقطه $\sqrt{2}$ و 1 قطع می کند آنگاه $f(m) = \sqrt{m}$ ، امتداد طول نقطه که نمودار تابع $g \circ f(m)$ را

$$m\sqrt{m} = 1 \rightarrow m = 1$$

$$m\sqrt{m} = 2\sqrt{2} \rightarrow m = 2$$

$$2-1 < 1$$

نمودار تابع g و m ها را در نقطه $\sqrt{2}$ و 1 قطع می کند آنگاه $f(m) = \sqrt{m}$ ، امتداد طول نقطه که نمودار تابع $g \circ f(m)$ را